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FUNCTION F (X ) = A(X + M)2 + N, ITS GRAPH AND
PROPERTIES OF COEFFICIENTS

MATCHING GAME

The goal of the puzzle is to make correct pairs of questions and answers with a minimal
amount of incorrect attempts.

Warning: The interactivity in this PDF file is enabled by
Javascript. For full funcitonality you have to use the Javascript
capable PDF browser. Currently only Adobe Reader is
available.



SCORE

As soon as laws are necessary for men, they are no longer fit for freedom.
Pythagoras, philosopher and mathematician.
Every quadratic function can be written in the standard form f (x) = a(x + m)2 + n, with coefficients (real numbers) a, m and n,
where a is not equal to zero. Match each graph with the right properties of the coefficients of the corresponding quadratic function.
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Properties of the Coefficients:

A a > 0 ∧ m = 0a > 0 ∧ n = 0a < 0 ∧ m < 0 ∧ n > 0a > 0 ∧ m < 0 ∧ n < 0a > 0 ∧ m < 0 ∧ n > 0a > 0 ∧ m > 0 ∧ n < 0

B a > 0 ∧ m = 0a > 0 ∧ n = 0a < 0 ∧ m < 0 ∧ n > 0a > 0 ∧ m < 0 ∧ n < 0a > 0 ∧ m < 0 ∧ n > 0a > 0 ∧ m > 0 ∧ n < 0

C a > 0 ∧ m = 0a > 0 ∧ n = 0a < 0 ∧ m < 0 ∧ n > 0a > 0 ∧ m < 0 ∧ n < 0a > 0 ∧ m < 0 ∧ n > 0a > 0 ∧ m > 0 ∧ n < 0

D a > 0 ∧ m = 0a > 0 ∧ n = 0a < 0 ∧ m < 0 ∧ n > 0a > 0 ∧ m < 0 ∧ n < 0a > 0 ∧ m < 0 ∧ n > 0a > 0 ∧ m > 0 ∧ n < 0

E a > 0 ∧ m = 0a > 0 ∧ n = 0a < 0 ∧ m < 0 ∧ n > 0a > 0 ∧ m < 0 ∧ n < 0a > 0 ∧ m < 0 ∧ n > 0a > 0 ∧ m > 0 ∧ n < 0

F a > 0 ∧ m = 0a > 0 ∧ n = 0a < 0 ∧ m < 0 ∧ n > 0a > 0 ∧ m < 0 ∧ n < 0a > 0 ∧ m < 0 ∧ n > 0a > 0 ∧ m > 0 ∧ n < 0



Great, now you can try solving one of the
Millennium Prize problems!

Awesome! Keep it up!Wait! Sheldon might get jealous!Amazing! Incredible!Great, you are very good at this!That was close! Next time you will
shine like a star.

A small step remains,
next time will be glorious!

Hermione’s top of the class title is almost on the
line.

You are so close!
You just made a misclick.

You’re almost rocking.Try again, practice makes perfect!You understand this a bit,
but you still need to practice.

Don’t worry, your result is more than half correct.Hang in there, there is space for improvement.Wasn’t the worst, but next time eat a piece of
chocolate and it will definitely be better.

It wasn’t Enigma,
so where is the problem?

Are you keeping your energy for later?You made a lot of mistakes.
You aren’t good at this yet.

You got it. Don’t throw in the sponge!Just a little better and you will be average.Let’s pretend it never happened.Do you know that you have to click
on the right answer?
Your math knowledge

is just like the square root of −1.
Most of your answers

were unfortunately like π — irrational.
You’ll be better next time.

Have you ever seen the way a chicken flies?
You solve math problems that way. . .




